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Guess Paper – 2009

Class – XII
Subject – Accountancy 






(THEORY) (1 + 3 Marks)

NPO
1 List any two features of the Income and Expenditure account.

2 State any one distinguishing feature between an organization for profit and an organization not for profit.

3 How would you account for ‘subscription due to be received’ in the current year in books of a no-trading organization?

4 How would you account for ‘subscription received in advance, in the books of the non-trading organization?

5 Name the account which shows the classified summary of transactions of a Cash Book in a not-for-organisation.

6 State any two characteristics of Receipts and Payment account.

7 Give two sources of income of a ‘Not for profit organisation’.

8 State two characteristics of a ‘Not for Profit Organisation’.

9 Distinguish between Income and Expenditure Account and Receipt and Payment Account on the basis of nature of items recorded therein.

Fundamental

1 R, S and T entered into a partnership of manufacturing and distributing educational CDs on April 1, 2007.  R looked after the business development, S content development and T financed the project.  At the end of the year (31.3.2008) R wanted a salary of Rs. 5,000 per month for the additional work he did.  The other partners were not inclined to this.  How would you resolve this within the ambit of the Indian Partnership Act 1932?

2 State the conditions under which the capital balances many change under the system of a fixed capital account.

3 State one difference between Fixed capital account and Fluctuating capital account of partners.

4 A, B and C are partners in a firm having no partnership agreement.  A, B and C contributed Rs. 4,00,000, Rs.6,00,000 and Rs. 1,50,000 respectively.  A and B desire that profits should be divided in the ratio of capital contribution.  C does not agree to this.  How will you settle the dispute?

5 List two items that may appear on the credit side of a partner’s capital account.

6 C and D are partners in a firm without a partnership deed.  C’s capital is Rs. 50,000 and D’s Capital is Rs. 70,000.  C has advanced a loan of Rs. 50,000 and claims interest @ 12% p.a. on it.  State with reason whether his claim is valid or not.

7 A and B are partners in a firm without a partnership deed.  A is an active partner and claims a salary of Rs. 18,000 per month.  State with reason whether the claim is valid or not.

8 S and R are partners in a firm with capitals of Rs. 3,00,000 and Rs. 4,00,000 respectively.  They do not have a partnership deed. R wants to share the profits in the ratio of capitals.  State with reason whether the claim is valid?





Admission, retirement, death, reconstitution

1
A and B are partners sharing profits in the ratio of 5 : 4.  They admit C for 1/9th share, which he acquires, from A.  Find the new profit sharing ratio.

2 A, B and C are partners sharing profits in the ratio of 4 : 3 : 2.  B retires and goodwill of the firm is value at         Rs. 18,000.  Pass journal entry for the treatment of goodwill on B’s retirement.

3
What is meant by goodwill?

4
Explain any two methods of valuation of goodwill.

5 A and B are equal partners.  C is admitted for 1/4th share, which he takes equally from both.  State the new profit sharing ratio.

6
P, Q and R are partners sharing profits in the ratio of 5 : 3 : 2.  P retires and goodwill of the firm is value at         Rs. 20,000.  Pass journal entry for the treatment of goodwill on B’s retirement.

7
A and B are partners with capitals of Rs. 90,000 and Rs. 1,00,000 respectively.  They decide to admit C into the partnership for 1/4th share in the future profits.  C is to being in a sum of Rs. 80,000 as his capital.  Calculate the amount of goodwill.

8 A, B and C are partners sharing profits in the ratio of 3 : 2 : 1.  B retires and the new profit sharing ratio between A and C is 3 : 1.  Find the gaining ratio.

9
What is a Revaluation Account?

10 Why are assets revalued at the time of admission of a partner?

11
Give the formula for calculating ‘gaining ratio’ of a partner in a partnership firm.

12
Pawan and Jayshree are partners..  Bindu is admitted for 1/4th share.  What is the ratio in which Pawan and J
Jayshree will sacrifice their share in favour of Bindu?

13
Give two circumstances in which sacrificing ratio may be applied.

14 Name any two factors affecting goodwill of a partnership firm.

15 State any two items of deduction that may have to be made from the amount payable to a retiring partner.

16 Define gaining ratio.

17 State any two occasions when reconstitution of a partnership firm takes place.

18
What is ‘sacrificing ratio’.

19
State any one of the rights that a newly admitted partner acquires in the firm.

20
State any two reasons for the preparation of ‘Revaluation Account’ on the admission of  a partner.

COMPANY
1 When does a company forfeit its shares?
2 What is authorized capital?

3 What is meant by Public subscription of Shares?

4 What are convertible debentures?

5 What is the nature of Interest on Debentures?

6 State the exceptions to the creation of Debenture Redemption Reserve (DRR) as per SEBI guidelines.

7 State any two items of deduction that may have to be made from the amount payable to a retiring partner.

8 State with reason whether a company can issue it shares at a discount of its Initial Public Offer (IPO).

9 Give the meaning of ‘Calls-in-Arrears’.

10 Give the meaning of ‘Calls-in – Advance’.

11 Give the meaning of ‘minimum subscription’.

ANALYSIS OF FINANCIAL STATEMENT

1 Why are the creditors interested in analyzing Financial statements?
2 The debt-equity ratio of accompany is 0.8 : 1. State whether the lone term loan obtained by a company will improve, decrease or not change in the ratio.

3 The stock turnover ratio of a company is 3 times, State giving reason, whether the ratio improve, declines or does not change because of increase in the value of closing stock by Rs. 5,000.

4 Quick ratio of a company is 1.5 : 1.  State giving reason whether the ratio will improve, decline or not change on payment of dividend by a company.

5 What are ‘common size statements’?  State any two uses of Common Size Statements.

6 The debtors’ turnover ratio of a company is 6 times.  State with reason whether  the ratio will improve, decrease of not change due to increase in the value of closing stock by Rs. 50,000.

7 Assuming that the Debt Equity ratio is 1 : 2, state giving reason, whether the ratio will improve, decline or will have no change in case equity shares are issued for cash.

8 Assuming that the current ratio is 2 : 1, giving reason whether the ratio will improve, decline or will have no change in case of a Bill receivable is dishonoured.

9 Why are the financial institutions interested in analyzing financial statements?

10 Why are the investors interested in analyzing Financial Statements?
11
Why are the public interested in analyzing Financial statements?

CASH FLOW STATEMENT

1
What are Cash Equivalents?

2
List any two items of operating activities, that are typical of and pertaining to Hotel Industry.

3
Why is ignoring non cash items of limitation of the cash flow statement?

4
List any two items of operating activities, that are typical of and pertaining to film production unit.

5
When does a flow of cash?

6 List any two items of operating activities, that is typical of and pertaining to Print Media.

7
How does the preparation of a Cash flow statement aid comparative study?

8
List any two items of operating activities that is typical of and pertaining Electronic Media.

9
State whether cash deposited in bank will result in inflow, outflow or no flow of cash.

12 Interest received by a finance company is classified under which kind of activity while preparing a cash flow statement.  

13 Mention the net amount of ‘Source’ or ‘Use’ of cash when a fixed asset (having book value of Rs. 15,000) is sold at a loss of Rs. 5,000.

14 Dividend paid by a trading company is classified under which kind of activity while preparing cash flow statement.

15 State whether the purchase of goods on credit will result into inflow, outflow or no flow of cash.

16 In which activity will you include the payment of interest on loan by a manufacturing company while preparing cash flow statement?

17 State whether conversion of debentures into equity shares by a financing company will result in inflow, outflow or no flow of cash.

18 Dividend paid by finance company is classified under which kind of activity while preparing cash flow statement.

19 Dividend paid by manufacturing company is classified under which kind of activity while preparing cash flow statement.

20 State whether the payment of cash to creditors with result in inflow, outflow or no flow of cash.

21 State whether depreciation charged by a company will result in inflow, outflow or no flow of cash.

22 Interest paid by an investment company will come under which activity while preparing cash flow statement.s
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